

ON FEJÉR TYPE INEQUALITIES VIA FRACTIONAL INTEGRALS

MEHMET ZEKI SARIKAYA

ABSTRACT. In this paper, we extend some weighted version of the Hermite-Hadamard type and Fejér type inequalities for fractional integrals. The results presented here would provide extensions of those given in earlier works.

1. INTRODUCTION

Definition 1. *The function $f : [a, b] \subset \mathbb{R} \rightarrow \mathbb{R}$, is said to be convex if the following inequality holds*

$$f(\lambda x + (1 - \lambda)y) \leq \lambda f(x) + (1 - \lambda)f(y)$$

for all $x, y \in [a, b]$ and $\lambda \in [0, 1]$. We say that f is concave if $(-f)$ is convex.

The following inequality is well known in the literature as the Hermite-Hadamard integral inequality (see, [8]):

$$(1.1) \quad f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x)dx \leq \frac{f(a) + f(b)}{2}$$

where $f : I \subset \mathbb{R} \rightarrow \mathbb{R}$ is a convex function on the interval I of real numbers and $a, b \in I$ with $a < b$.

In [3] and [4], Dragomir et al. proved the following results connected with the Hermite-Hadamard inequality:

Theorem 1. *Let $f : [a, b] \rightarrow \mathbb{R}$ be a twice differentiable mapping such that there exists real constants m and M so that $m \leq f'' \leq M$. Then, the following inequalities hold:*

$$(1.2) \quad m \frac{(b-a)^2}{24} \leq \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(x)dx \leq M \frac{(b-a)^2}{24}$$

and

$$(1.3) \quad m \frac{(b-a)^2}{24} \leq \frac{1}{b-a} \int_a^b f(x)dx - f\left(\frac{a+b}{2}\right) \leq M \frac{(b-a)^2}{24}.$$

The most well-known inequalities related to the integral mean of a convex function are the Hermite Hadamard inequalities or its weighted versions, the so-called Hermite-Hadamard-Fejér inequalities (see, [6], [10]-[13], [16], [17]). In [5], Fejer gave a weighted generalization of the inequalities (1.1) as the following:

2000 *Mathematics Subject Classification.* 26D15, 26A51.

Key words and phrases. Hermite-Hadamard inequality, Fejer inequality, convex function.

Theorem 2. $f : [a, b] \rightarrow \mathbb{R}$, be a convex function, then the inequality

$$(1.4) \quad f\left(\frac{a+b}{2}\right) \int_a^b w(x)dx \leq \frac{1}{b-a} \int_a^b f(x)w(x)dx \leq \frac{f(a)+f(b)}{2} \int_a^b w(x)dx$$

holds, where $w : [a, b] \rightarrow \mathbb{R}$ is nonnegative, integrable, and symmetric about $x = \frac{a+b}{2}$ (i.e. $w(x) = w(a+b-x)$).

In [7], Minculete and Mitroi presented the following important inequalities;

Theorem 3. Let $f : [a, b] \rightarrow \mathbb{R}$ be a twice differentiable mapping such that there exists real constants m and M so that $m \leq f'' \leq M$. Then, the following inequalities hold:

$$(1.5) \quad m \frac{\lambda(1-\lambda)}{2} (b-a)^2 \leq \lambda f(a) + (1-\lambda) f(b) - f(\lambda a + (1-\lambda)b) \\ \leq M \frac{\lambda(1-\lambda)}{2} (b-a)^2$$

and

$$(1.6) \quad \frac{(1-2\lambda)^2}{8} (b-a)^2 \leq \frac{f(\lambda a + (1-\lambda)b) + f((1-\lambda)a + \lambda b)}{2} - f\left(\frac{a+b}{2}\right) \\ \leq M \frac{(1-2\lambda)^2}{8} (b-a)^2$$

for $\lambda \in [0, 1]$.

And using the Theorem 3, some inequalities of Hermite-Hadamard-Fejer type for differentiable mappings were proved as follows:

Theorem 4. Let $f : [a, b] \rightarrow \mathbb{R}$ be a twice differentiable mapping such that there exists real constants m and M so that $m \leq f'' \leq M$. Assume $g : [a, b] \rightarrow \mathbb{R}$ is non-negative, integrable, and symmetric about $x = \frac{a+b}{2}$. Then, the following inequalities hold:

$$(1.7) \quad \frac{m}{2} \int_a^b (t-a)(b-t)g(t)dt \leq \frac{f(a)+f(b)}{2} \int_a^b g(t)dt - \int_a^b f(t)g(t)dt \\ \leq \frac{M}{2} \int_a^b (t-a)(b-t)g(t)dt$$

and

$$(1.8) \quad \frac{m}{8} \int_a^b (2t-a-b)^2 g(t)dt \leq \int_a^b f(t)g(t)dt - f\left(\frac{a+b}{2}\right) \int_a^b g(t)dt \\ \leq \frac{M}{8} \int_a^b (2t-a-b)^2 g(t)dt.$$

Definition 2. Let $f \in L_1[a, b]$. The Riemann-Liouville integrals $J_{a+}^\alpha f$ and $J_{b-}^\alpha f$ of order $\alpha > 0$ with $a \geq 0$ are defined by

$$J_{a+}^\alpha f(x) = \frac{1}{\Gamma(\alpha)} \int_a^x (x-t)^{\alpha-1} f(t)dt, \quad x > a$$

and

$$J_{b-}^\alpha f(x) = \frac{1}{\Gamma(\alpha)} \int_x^b (t-x)^{\alpha-1} f(t)dt, \quad x < b$$

respectively. Here, $\Gamma(\alpha)$ is the Gamma function and $J_{a+}^0 f(x) = J_{b-}^0 f(x) = f(x)$.

Meanwhile, in [9], Sarikaya et al. first presented the following interesting integral inequalities of Hermite-Hadamard type involving Riemann-Liouville fractional integrals.

Theorem 5. *Let $f : [a, b] \rightarrow \mathbb{R}$ be a positive function with $0 \leq a < b$ and $f \in L_1[a, b]$. If f is a convex function on $[a, b]$, then the following inequalities for fractional integrals hold:*

$$(1.9) \quad f\left(\frac{a+b}{2}\right) \leq \frac{\Gamma(\alpha+1)}{2(b-a)^\alpha} [J_{a+}^\alpha f(b) + J_{b-}^\alpha f(a)] \leq \frac{f(a) + f(b)}{2}$$

with $\alpha > 0$.

In recently, Iscan in [6] established the following Hermite-Hadamard-Fejer type inequalities for fractional integrals:

Theorem 6. *Let $f : [a, b] \rightarrow \mathbb{R}$ be a convex function with $0 \leq a < b$ and $f \in L[a, b]$. If $g : [a, b] \rightarrow \mathbb{R}$ is nonnegative, integrable, and symmetric about $x = \frac{a+b}{2}$ (i.e. $w(x) = w(a+b-x)$), then the following inequalities for fractional integrals hold:*

$$(1.10) \quad f\left(\frac{a+b}{2}\right) [J_{a+}^\alpha g(b) + J_{b-}^\alpha g(a)] \leq [J_{a+}^\alpha f(b) + J_{b-}^\alpha f(a)] \\ \leq \frac{f(a) + f(b)}{2} [J_{a+}^\alpha g(b) + J_{b-}^\alpha g(a)]$$

with $\alpha > 0$. Here, $J_{a+}^\alpha g(b) = J_{b-}^\alpha g(a) = \frac{1}{2} [J_{a+}^\alpha g(b) + J_{b-}^\alpha g(a)]$.

For some recent results connected with fractional integral inequalities see [1], [2], [6], [14], [15], [18].

In this article, using functions whose derivatives absolute values are convex, we obtained new inequalities of Hermite-Hadamard-Fejer type and Hermite-Hadamard type involving fractional integrals. The results presented here would provide extensions of those given in earlier works.

2. MAIN RESULTS

By using the Theorem 3, we will establish some new results connected with the Hermite-Hadamard type and Fejer type inequalities for fractional integrals. Now, we give the following our results:

Theorem 7. *Let $f : [a, b] \rightarrow \mathbb{R}$ be a twice differentiable mapping such that there exists real constants m and M so that $m \leq f'' \leq M$. Then, the following inequalities for fractional integrals hold:*

$$(2.1) \quad \frac{m\alpha(b-a)^2}{2(\alpha+1)(\alpha+2)} \\ \leq \frac{f(a) + f(b)}{2} - \frac{\Gamma(\alpha+1)}{2(b-a)^\alpha} [J_{a+}^\alpha f(b) + J_{b-}^\alpha f(a)] \\ \leq \frac{M(b-a)^2}{2(\alpha+1)(\alpha+2)}$$

and

$$\begin{aligned}
 (2.2) \quad & m(b-a)^2 \frac{4\alpha - \alpha^2 + \alpha^3}{16\alpha(\alpha+1)(\alpha+2)} \\
 & \leq \frac{\Gamma(\alpha+1)}{2(b-a)^\alpha} [J_{a+}^\alpha f(b) + J_{b-}^\alpha f(a)] - f\left(\frac{a+b}{2}\right) \\
 & \leq M(b-a)^2 \frac{4\alpha - \alpha^2 + \alpha^3}{16\alpha(\alpha+1)(\alpha+2)}
 \end{aligned}$$

where $\alpha > 0$.

Proof. Multiplying both sides of (1.5) by $\lambda^{\alpha-1}$, then integrating the resulting inequality with respect to λ over $[0, 1]$, we have

$$\begin{aligned}
 & \frac{m(b-a)^2}{2(\alpha+1)(\alpha+2)} \\
 & \leq \frac{f(a)}{\alpha+1} + \frac{f(b)}{\alpha(\alpha+1)} - \int_0^1 \lambda^{\alpha-1} f(\lambda a + (1-\lambda)b) d\lambda \\
 & \leq \frac{M(b-a)^2}{2(\alpha+1)(\alpha+2)}
 \end{aligned}$$

and using the change of the variable $\lambda a + (1-\lambda)b = t$, we get

$$\begin{aligned}
 (2.3) \quad & \frac{m(b-a)^2}{2(\alpha+1)(\alpha+2)} \\
 & \leq \frac{f(a)}{\alpha+1} + \frac{f(b)}{\alpha(\alpha+1)} - \frac{1}{(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} f(t) dt \\
 & \leq \frac{M(b-a)^2}{2(\alpha+1)(\alpha+2)}.
 \end{aligned}$$

Similarly, multiplying both sides of (1.5) by $(1-\lambda)^{\alpha-1}$, then integrating the resulting inequality with respect to λ over $[0, 1]$ and using the change of the variable $\lambda a + (1-\lambda)b = t$, we have

$$\begin{aligned}
 (2.4) \quad & \frac{m(b-a)^2}{2(\alpha+1)(\alpha+2)} \\
 & \leq \frac{f(a)}{\alpha(\alpha+1)} + \frac{f(b)}{\alpha+1} - \frac{1}{(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} f(t) dt \\
 & \leq \frac{M(b-a)^2}{2(\alpha+1)(\alpha+2)}.
 \end{aligned}$$

Thus, summing (2.3) and (2.4), we obtain the inequality (2.1).

On the other hand, multiplying both sides of (1.6) by $\lambda^{\alpha-1}$ and $(1-\lambda)^{\alpha-1}$, respectively, then integrating the resulting inequality with respect to λ over $[0, 1]$ and using the change of the variable, we obtain inequalities (2.2). This completes the proof. \square

Remark 1. If we take $\alpha = 1$ in (2.1) and (2.2), the inequalities (2.1) and (2.2) reduce to (1.2) and (1.3), respectively.

Theorem 8. Let $f : [a, b] \rightarrow \mathbb{R}$ be a twice differentiable mapping such that there exists real constants m and M so that $m \leq f'' \leq M$. Assume $g : [a, b] \rightarrow \mathbb{R}$ is non-negative, integrable, and symmetric about $x = \frac{a+b}{2}$. Then, the following inequalities for fractional integrals hold:

$$\begin{aligned}
 (2.5) \quad & \frac{m}{2\Gamma(\alpha)} \int_a^b (b-t)(t-a) \left[(b-t)^{\alpha-1} + (t-a)^{\alpha-1} \right] g(t) dt \\
 & \leq \frac{f(a) + f(b)}{2} [J_{a+}^\alpha g(b) + J_{b-}^\alpha g(a)] - [J_{a+}^\alpha (fg)(b) + J_{b-}^\alpha (fg)(a)] \\
 & \leq \frac{M}{2\Gamma(\alpha)} \int_a^b (b-t)(t-a) \left[(b-t)^{\alpha-1} + (t-a)^{\alpha-1} \right] g(t) dt
 \end{aligned}$$

and

$$\begin{aligned}
 (2.6) \quad & \frac{m}{8\Gamma(\alpha)} \int_a^b \left[(t-a)^{\alpha-1} + (b-t)^{\alpha-1} \right] (2t-a-b)^2 g(t) dt \\
 & \leq [J_{a+}^\alpha (fg)(b) + J_{b-}^\alpha (fg)(a)] - f\left(\frac{a+b}{2}\right) [J_{a+}^\alpha g(b) + J_{b-}^\alpha g(a)] \\
 & \leq \frac{M}{8\Gamma(\alpha)} \int_a^b \left[(t-a)^{\alpha-1} + (b-t)^{\alpha-1} \right] (2t-a-b)^2 g(t) dt
 \end{aligned}$$

where $\alpha > 0$.

Proof. Multiplying both sides of (1.5) by $\lambda^{\alpha-1} g(\lambda a + (1-\lambda)b)$ and $(1-\lambda)^{\alpha-1} g((1-\lambda)a + b\lambda)$, respectively, then integrating the resulting inequality with respect to λ over $[0, 1]$ and using the change of the variable, we have the following inequalities, respectively,

$$\begin{aligned}
 (2.7) \quad & \frac{m}{2(b-a)^\alpha} \int_a^b (b-t)^\alpha (t-a) g(t) dt \\
 & \leq \frac{f(a)}{(b-a)^{\alpha+1}} \int_a^b (b-t)^\alpha g(t) dt + \frac{f(b)}{(b-a)^{\alpha+1}} \int_a^b (b-t)^{\alpha-1} (t-a) g(t) dt \\
 & \quad - \frac{1}{(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} f(t) g(t) dt \\
 & \leq \frac{M}{2(b-a)^\alpha} \int_a^b (b-t)^\alpha (t-a) g(t) dt
 \end{aligned}$$

and

$$\begin{aligned}
(2.8) \quad & \frac{m}{2(b-a)^\alpha} \int_a^b (b-t)^\alpha (t-a) g(t) dt \\
& \leq \frac{f(a)}{(b-a)^{\alpha+1}} \int_a^b (b-t)^{\alpha-1} (t-a) g(t) dt + \frac{f(b)}{(b-a)^{\alpha+1}} \int_a^b (b-t)^\alpha g(t) dt \\
& \quad - \frac{1}{(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} f(t) g(t) dt \\
& \leq \frac{M}{2(b-a)^\alpha} \int_a^b (b-t)^\alpha (t-a) g(t) dt.
\end{aligned}$$

Summing (2.7) and (2.8), we have

$$\begin{aligned}
(2.9) \quad & \frac{m}{(b-a)^\alpha} \int_a^b (b-t)^\alpha (t-a) g(t) dt \\
& \leq \frac{f(a)}{(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} g(t) dt + \frac{f(b)}{(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} g(t) dt \\
& \quad - \frac{1}{(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} f(t) g(t) dt - \frac{1}{(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} f(t) g(t) dt \\
& \leq \frac{M}{(b-a)^\alpha} \int_a^b (b-t)^\alpha (t-a) g(t) dt.
\end{aligned}$$

Multiplying both sides of (1.5) by $\lambda^{\alpha-1} g((1-\lambda)a + b\lambda)$ and $(1-\lambda)^{\alpha-1} g(\lambda a + (1-\lambda)b)$, respectively, then integrating the resulting inequality with respect to λ over $[0, 1]$ and using the change of the variable, we get the following inequalities, respectively,

$$\begin{aligned}
(2.10) \quad & \frac{m}{2(b-a)^\alpha} \int_a^b (t-a)^\alpha (b-t) g(t) dt \\
& \leq \frac{f(a)}{(b-a)^{\alpha+1}} \int_a^b (t-a)^\alpha g(t) dt + \frac{f(b)}{(b-a)^{\alpha+1}} \int_a^b (t-a)^{\alpha-1} (b-t) g(t) dt \\
& \quad - \frac{1}{(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} f(t) g(t) dt \\
& \leq \frac{M}{2(b-a)^\alpha} \int_a^b (t-a)^\alpha (b-t) g(t) dt
\end{aligned}$$

and

$$\begin{aligned}
(2.11) \quad & \frac{m}{2(b-a)^\alpha} \int_a^b (t-a)^\alpha (b-t) g(t) dt \\
& \leq \frac{f(a)}{(b-a)^{\alpha+1}} \int_a^b (b-t)(t-a)^{\alpha-1} g(t) dt + \frac{f(b)}{(b-a)^{\alpha+1}} \int_a^b (t-a)^\alpha g(t) dt \\
& \quad - \frac{1}{(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} f(t) g(t) dt \\
& \leq \frac{M}{2(b-a)^\alpha} \int_a^b (t-a)^\alpha (b-t) g(t) dt.
\end{aligned}$$

Summing (2.10) and (2.11), we have

$$\begin{aligned}
(2.12) \quad & \frac{m}{(b-a)^\alpha} \int_a^b (t-a)^\alpha (b-t) g(t) dt \\
& \leq \frac{f(a)}{(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} g(t) dt + \frac{f(b)}{(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} g(t) dt \\
& \quad - \frac{1}{(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} f(t) g(t) dt - \frac{1}{(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} f(t) g(t) dt \\
& \leq \frac{M}{(b-a)^\alpha} \int_a^b (t-a)^\alpha (b-t) g(t) dt.
\end{aligned}$$

Hence, by summing (2.9) and (2.12), we get the inequality (2.5).

Now, multiplying both sides of (1.6) by $\lambda^{\alpha-1} g(\lambda a + (1-\lambda)b)$ and $(1-\lambda)^{\alpha-1} g((1-\lambda)a + b\lambda)$, respectively, then integrating the resulting inequality with respect to λ over $[0, 1]$ and using the change of the variable, we have the following inequalities, respectively,

$$\begin{aligned}
(2.13) \quad & \frac{m}{8(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} (2t-a-b)^2 g(t) dt \\
& \leq \frac{1}{2(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} f(t) g(t) dt + \frac{1}{2(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} f(t) g(t) dt \\
& \quad - f\left(\frac{a+b}{2}\right) \frac{1}{(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} g(t) dt \\
& \leq \frac{M}{8(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} (2t-a-b)^2 g(t) dt
\end{aligned}$$

and

$$\begin{aligned}
(2.14) \quad & \frac{m}{8(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} (2t-a-b)^2 g(t) dt \\
& \leq \frac{1}{2(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} f(t)g(t) dt + \frac{1}{2(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} f(t)g(t) dt \\
& \quad - f\left(\frac{a+b}{2}\right) \frac{1}{(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} g(t) dt \\
& \leq \frac{M}{8(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} (2t-a-b)^2 g(t) dt.
\end{aligned}$$

Summing (2.13) and (2.14), we have

$$\begin{aligned}
(2.15) \quad & \frac{m}{4(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} (2t-a-b)^2 g(t) dt \\
& \leq \frac{1}{(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} f(t)g(t) dt + \frac{1}{(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} f(t)g(t) dt \\
& \quad - f\left(\frac{a+b}{2}\right) \frac{2}{(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} g(t) dt \\
& \leq \frac{M}{4(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} (2t-a-b)^2 g(t) dt.
\end{aligned}$$

Similarly, multiplying both sides of (1.6) by $\lambda^{\alpha-1}g((1-\lambda)a+b\lambda)$ and $(1-\lambda)^{\alpha-1}g(\lambda a+(1-\lambda)b)$, respectively, then integrating the resulting inequality with respect to λ over $[0, 1]$ and using the change of the variable, we get the following inequalities, respectively,

$$\begin{aligned}
(2.16) \quad & \frac{m}{8(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} (2t-a-b)^2 g(t) dt \\
& \leq \frac{1}{2(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} f(t)g(t) dt + \frac{1}{2(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} f(t)g(t) dt \\
& \quad - f\left(\frac{a+b}{2}\right) \frac{1}{(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} g(t) dt \\
& \leq \frac{M}{8(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} (2t-a-b)^2 g(t) dt
\end{aligned}$$

and

$$\begin{aligned}
(2.17) \quad & \frac{m}{8(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} (2t-a-b)^2 g(t) dt \\
& \leq \frac{1}{2(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} f(t)g(t) dt + \frac{1}{2(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} f(t)g(t) dt \\
& \quad - f\left(\frac{a+b}{2}\right) \frac{1}{(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} g(t) dt \\
& \leq \frac{M}{8(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} (2t-a-b)^2 g(t) dt.
\end{aligned}$$

Summing (2.16) and (2.17), we have

$$\begin{aligned}
(2.18) \quad & \frac{m}{4(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} (2t-a-b)^2 g(t) dt \\
& \leq \frac{1}{(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} f(t)g(t) dt + \frac{1}{(b-a)^\alpha} \int_a^b (b-t)^{\alpha-1} f(t)g(t) dt \\
& \quad - f\left(\frac{a+b}{2}\right) \frac{2}{(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} g(t) dt \\
& \leq \frac{M}{4(b-a)^\alpha} \int_a^b (t-a)^{\alpha-1} (2t-a-b)^2 g(t) dt.
\end{aligned}$$

Therefore, by summing (2.15) and (2.18), we get the inequality (2.6) which the proof of theorem is completed. \square

Remark 2. If we take $\alpha = 1$ in (2.5) and (2.6), the inequalities (2.5) and (2.6) reduce to (1.7) and (1.8), respectively.

Corollary 1. Under the same assumptions of Theorem 8 with $g(t) = 1$, then the following inequality holds:

$$\begin{aligned}
& \frac{\alpha m}{4(b-a)^\alpha} \int_a^b (b-t)(t-a) \left[(b-t)^{\alpha-1} + (t-a)^{\alpha-1} \right] dt \\
& \leq \frac{f(a) + f(b)}{2} - \frac{\Gamma(\alpha+1)}{2(b-a)^\alpha} [J_{a+}^\alpha f(b) + J_{b-}^\alpha f(a)] \\
& \leq \frac{\alpha M}{4(b-a)^\alpha} \int_a^b (b-t)(t-a) \left[(b-t)^{\alpha-1} + (t-a)^{\alpha-1} \right] dt
\end{aligned}$$

and

$$\begin{aligned} & \frac{\alpha m}{16(b-a)^\alpha} \int_a^b \left[(t-a)^{\alpha-1} + (b-t)^{\alpha-1} \right] (2t-a-b)^2 dt \\ & \leq \frac{\Gamma(\alpha+1)}{2(b-a)^\alpha} \left[J_{a+}^\alpha f(b) + J_{b-}^\alpha f(a) \right] - f\left(\frac{a+b}{2}\right) \\ & \leq \frac{\alpha M}{16(b-a)^\alpha} \int_a^b \left[(t-a)^{\alpha-1} + (b-t)^{\alpha-1} \right] (2t-a-b)^2 dt. \end{aligned}$$

REFERENCES

- [1] Z. Dahmani, *On Minkowski and Hermite-Hadamard integral inequalities via fractional integration*, Ann. Funct. Anal. 1(1) (2010), 51-58.
- [2] J. Deng and J. Wang, *Fractional Hermite-Hadamard inequalities for (α, m) -logarithmically convex functions*.
- [3] S. S. Dragomir, P. Cerone and A. Sofo, *Some remarks on the midpoint rule in numerical integration*, Studia Univ. Babeş-Bolyai, Math., XLV(1) (2000), 63-74.
- [4] S. S. Dragomir, P. Cerone and A. Sofo, *Some remarks on the trapezoid rule in numerical integration*, Indian J. Pure Appl. Math., 31(5) (2000), 475-494.
- [5] L. Fejer, *Über die Fourierreihen*, II. Math. Naturwiss. Anz Ungar. Akad. Wiss., 24 (1906), 369-390. (Hungarian).
- [6] I. Iscan, *Hermite-Hadamard-Fejer type inequalities for convex functions via fractional integrals*, arXiv preprint arXiv:1404.7722 (2014).
- [7] N. Minculete and F-C. Mitroi, *Fejer-type inequalities*, Aust. J. Math. Anal. Appl. 9(2012), no. 1, Art. 12, 8pp.
- [8] J. Pečarić, F. Proschan and Y.L. Tong, *Convex functions, partial ordering and statistical applications*, Academic Press, New York, 1991.
- [9] M. Z. Sarikaya, E. Set, H. Yaldiz and N., Basak, *Hermite-Hadamard's inequalities for fractional integrals and related fractional inequalities*, Mathematical and Computer Modelling, DOI:10.1016/j.mcm.2011.12.048, 57 (2013) 2403-2407.
- [10] M. Z. Sarikaya, *On new Hermite Hadamard Fejer Type integral inequalities*, Studia Universitatis Babeş-Bolyai Mathematica., 57(2012), No. 3, 377-386.
- [11] K-L. Tseng, G-S. Yang and K-C. Hsu, *Some inequalities for differentiable mappings and applications to Fejer inequality and weighted trapezoidal formula*, Taiwanese J. Math. 15(4), pp:1737-1747, 2011.
- [12] C.-L. Wang, X.-H. Wang, *On an extension of Hadamard inequality for convex functions*, Chin. Ann. Math. 3 (1982) 567-570.
- [13] S.-H. Wu, *On the weighted generalization of the Hermite-Hadamard inequality and its applications*, The Rocky Mountain J. of Math., vol. 39, no. 5, pp. 1741-1749, 2009.
- [14] M. Tunc, *On new inequalities for h -convex functions via Riemann-Liouville fractional integration*, Filomat 27:4 (2013), 559-565.
- [15] J. Wang, X. Li, M. Feckan and Y. Zhou, *Hermite-Hadamard-type inequalities for Riemann-Liouville fractional integrals via two kinds of convexity*, Appl. Anal. (2012). doi:10.1080/00036811.2012.727986.
- [16] B-Y, Xi and F. Qi, *Some Hermite-Hadamard type inequalities for differentiable convex functions and applications*, Hacet. J. Math. Stat.. 42(3), 243-257 (2013).
- [17] B-Y, Xi and F. Qi, *Hermite-Hadamard type inequalities for functions whose derivatives are of convexities*, Nonlinear Funct. Anal. Appl.. 18(2), 163-176 (2013)
- [18] Y. Zhang and J-R. Wang, *On some new Hermite-Hadamard inequalities involving Riemann-Liouville fractional integrals*, Journal of Inequalities and Applications 2013, 2013:220.

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE AND ARTS, DÜZCE UNIVERSITY, KONYALP CAMPUS, DÜZCE-TURKEY

E-mail address: sarikayamz@gmail.com